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$TS1$שהחברה$TS1$
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$TS1$החברה$TS1$
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ברה

$TS1$החברה$TS1$

$DN2$החברה$DN2$נא־בקרנותנכסיםמנהלת

מנות,

$TS1$,נאמנות$TS1$
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$TS1$בעמדת$TS1$
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מה

$TS1$שלמה$TS1$

$DN2$שלמה$DN2$,כיצרברורלאועדייןאליהו

מצבהחברה.אתלנווטעתידהוא

המי־לגביוודאותחוסרשמכניס

קוד

$TS1$המיקוד$TS1$

$DN2$המיקוד$DN2$מגדל.שלהעתידיהעסקי
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חי

$TS1$ביטוחי$TS1$

$DN2$ביטוחי$DN2$.ביטוחבמגזרהרווחבריאות
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פה

$TS1$בתקופה$TS1$

$DN2$בתקופה$DN2$שלגידול2011ב-המקבילה
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בעי־בביטוח,במכירותשיפור
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$TS1$בעיקר$TS1$

$DN2$בעיקר$DN2$ותרומהקבוצתיות,בעסקות
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ליון

$TS1$מיליון$TS1$

$DN2$מיליון$DN2$כוללשלרווחלעומתשקל
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$TS1$לעומת$TS1$
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הנ־סךשקל.מיליון210תמורת
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$TS1$פעולה$TS1$
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$TS1$במכירות$TS1$
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